
 

INS-31018_1 1 

ITEM QUANTITY CONTENTS TOOLS 
1 1 REAR BUMPER ASSEMBLY 18MM SOCKET 
2 2 BUMPER MOUNTING BRACKETS RATCHET 

3 1 INNER BUMPER FRAME  

4 8 M12 HEX BOLTS  
5 2 M12 HEX NUTS  
6 2 LICENSE PLATE LAMP HOUSING  
7 1 LICENSE PLATE LAMP WIRING HARNESS  
8 2 LIGHT BULB  
9 1 LICENSE PLATE BOLT KIT  
10 2 WIRING QUICK SPLICES  

ARTICULO CANTIDAD CONTENIDO HERRAMIENTA 
1 1 MONTAJE DEFENSA TRASERA 18 ENCHUFE de MM 
2 2 SOPORTE PARA MONTURA DE DEFENSA TRINQUETE 
3 1 CUADRO INTERNO DE DEFENSA  
4 8 TORNILLOS DE AOJO M12  
5 2 TUERCAS DE AOJO M12  
6 2 SOSTEN PARA LUZ DE PLACA  

7 1 ARREOS DE ALANBRADO DE LAMPARA DE 
PLACAS  

8 2 BOMBILLA  
9 1 JUEGO de TORNILLO PARA PLACA  
10 2 EMPALMES RAPIDOS PARA ALAMBRAR  

PIÈCE QTÉ ENSEMBLE PARE-CHOCS ARRIÈRE DOUILLE DE 18 MM 
1 1 SUPPORTS DE MONTAGE DU PARE-CHOCS CLIQUET 
2 2 CADRE INTÉRIEUR DU PARE-CHOCS   
3 1 BOULONS HEXAGONAUX M12   
4 8 ÉCROUS HEXAGONAUX M12   
5 2 BOULON DE CARROSSERIE M10   

6 2 FAISCEAU DE FILS DE LA LAMPE D'ÉCLAIRAGE 
DE LA PLAQUE D'IMMATRICULATION   

7 1 AMPOULE   

8 2 ENSEMBLE DE BOULONS POUR LA PLAQUE 
D'IMMATRICULATION   

9 1 RACCORDS RAPIDES POUR FILS   
10 2 WIRING QUICK SPLICES  

1. Verify that all contents listed are present. Carefully read all instructions before installing. 
2. Attach the bumper mounting brackets to the inner bumper frame using the supplied M12 hex bolts. The welded nuts on the 

bracket face the outside of the bumper. Do not fully tighten at this time. (FIGURE 1) 
3. Install all license plate lighting components at this time. Splice new wiring harness to the original harness connector. 

(FIGURE 2) 
4. Install the bumper assembly to the vehicles frame, use the remaining M12 bolts and nuts to secure the bumper brackets. 
5. Align the bumper as desired then tighten all hardware. (FIGURE 3) 
 

INSTRUCTIONS-INSTRUCCIONES-CONSIGNES 
APPLICATION: 1995-2004 TOYOTA TACOMA 
APLICACION: 1995-2004 TOYOTA TACOMA 
APPLICATION: 1995-2004 TOYOTA TACOMA 
BUMPER KIT: 31018 CHROME / 32018 BLACK 
BUMPER KIT: 31018 CHROME / 32018 BLACK 
BUMPER KIT: 31018 CHROME / 32018 BLACK 



 

INS-31018_1 2 

INSTRUCTIONS-INSTRUCCIONES-CONSIGNES 
APPLICATION: 1995-2004 TOYOTA TACOMA 
APLICACION: 1995-2004 TOYOTA TACOMA 
APPLICATION: 1995-2004 TOYOTA TACOMA 
BUMPER KIT: 31018 CHROME / 32018 BLACK 
BUMPER KIT: 31018 CHROME / 32018 BLACK 
BUMPER KIT: 31018 CHROME / 32018 BLACK 

1. Vérifiez qu'il ne manque aucune pièce. Avant de procéder à l'installation, lisez attentivement toutes les instructions. 
2. Fixez les supports de montage du pare-chocs sur le cadre intérieur du pare-chocs avec les boulons hexagonaux M12. Les 

écrous à souder du support font face à l'extérieur du pare-chocs. Ne serrez pas pour le moment. (FIGURE 1) 
3. Installez ensuite tous les systèmes d'éclairage de la plaque d'immatriculation. Raccordez le nouveau faisceau de fils au con-

necteur de faisceau de fils d'origine. (FIGURE 2) 
4. Fixez l'ensemble pare-chocs sur le cadre du véhicule. À l'aide des boulons et des écrous M12 restants, fixez les supports du 

pare-chocs. 
5. Alignez le pare-chocs, puis serrez toutes les attaches. (FIGURE 3) 

FIGURE 1 

FIGURE 3 

1. Verifique que todo contenido listó esten presente. Lea con cuidado todas instrucciones antes de instalar. 
2. Apege los soportes de montura de la defensa al marco interior de la defensa usando tornillos de aojo M12 suministrados las 

tuercas soldadas en el soporte encaran el exterior de la defensa no apriete completamente en este momento. (FIGURA 1) 
3. Instale todo componente que enciende la placa en este momento emplalme nuevo arreo de alambrado al conector del arreo 

original. (FIGURA 2) 
4. Instale el montaje de defensa al marco del vehiculo usando los tornillos y tuercas restantes M12 para asegurar los soportes 

de la defensa. 
5. Alinee la defensa como desee entonces apriete todo el equipo. (FIGURA 3) 

FIGURE 2 


